Wi EEmi R

HoENRE

(H)o%1 64F 48 1H (E)FH 74 3831H

H—BE=HA

(Bfir: [)
BEHE LR s M Er e &5 EEETEIREES
HEIA 5,722,464 5,722,464
. = BOR|RE  S A 3,756 3,756
= N Z DO A 36,091 36,001
S
% \ FRIEDRAG (1) 5,762,311 5,762,311
izl LAHEED 4,154,970 4,154,970
;I’:i EEHEEH 621,907 621,907
[ s e 395,969 395,969
*
HERTIHE (D 5,172,846 5,172,846
FELREE &N EEHG) =(1)-(2) 589,465 589,466
i | U2
A
g
ﬂ%ﬁ MR S A (4)
iz
£
*
o
X ARSI &)
TS Sl = (6)=(1) - (5)
a
i
[ra]
i
7 F OB (D)
;E;b HEXSMBASZH 55,580 65,580
gi
i
iy
* . % DL DTERXEF ) 65,580 65,580
FTOMOETE SN L (0)=(7)-(8) 65,580 /A\B5,580
LUEIE SN A (L0)=(3) +{8) +(9) 523,885 523,885
HIHAR L EarEeE (1) 7,531,602 7,631,602
YR REEER (10)+(11) 8,065,487 8,065,487




IS E R

LRSS

(B)$7F1 64 48 LE(E)SH 7% 3H31H

B SEERA

(B{7: )
BERE FERSAHE
HERA 5,792,464
TR EREERA 3,756
# Rz omorn 36,091
e
g FREBAG (1) 5,762,311
| | AR 4,154,970
%32 BEER T H 621,907
i i | R 395,569
b
EETRESIH R (2) 5,172,846
BERTE LN T EH ) =(1)-(2) 589,465
=
L
‘571 MR B BN G (4)
iz :
X
¥
A
* EEREEEN G
MBS RN T (6)=(4)-(5)
xa I
3]
i
ot ZDROHEBBAF ()
;ﬁgJ FERKSHBEAETH 55,580
%i
7 H
3 E D OEEZ HE (8) 65,580
FOMOTFEESINEZEE(9)=(7)-(8) /\G5,580
WHEE G =R (10)=(3)+(8) +(9) 523,885
AT R T HE S (1) 7,531,602
LHIRFRESTER (100+{1) 8,055,487




